'H-eﬂailns
Jociety

- - - - — —

0.222222..=02

6.8019.=6.8019

0.6666=0.6
8.242424-8.21
5.482182=5.4821



Shown below are four fractions.

5 11
8 20

Circle any fractions which are recurring decimals.

e

(2)
2. Write the fraction g as a recurring decimal.
4
o.1e .
(2
2
3 (a) Write 5 as a recurring decimal.
L4
Q.6 .
(1)
(b) Write % as a recurring decimal.
[ ]
0-06 .
(1)
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4. Write -7— as a recurring decimal.

N

J °
0-5%1428
(2)
o Write F as a recurring decimal.
0.23
(2
6. Circle the largest number.
1.85 1.85 1.8
(1)
7. Circle the smallest number.
0.7 0.78 0.775
(1)
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8. Write the following numbers in order of size, starting with the smallest.

0.705 0.705 0.705 0.705

0-305 0105 0.305 0,705

............... ,),.

9.  Wirite 0.81 as a fraction.
s Give your answer in its simplest form.

%
let 2% =0-8l8l.- -
100 % =81, 818 -

qqx = 8!
% =L
|

10.  Convert 0.34 to a fraction.
Give your answer in its simplest form.
Le“' %=0-344Y ... -
0% = 3.-44449. - - -

The Maths Society
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169
Prove algebraically that 0.512 can be written as 330

‘ % o. |1000

qqx. 50.3
= 69 (ghowon)
330

3)

12.  Convert 0.451515151... to a fraction.
% Give your answer in its simplest form.
XN 049151610
IOO % zUH. 1516161. - -
qqx. =44.%
= 149
230

13.  Write 1.24 as a mixed number.
- Give your answer in its simplest form.

i
x,g lalw:
10 % =12 444>

—

T Q= W2
xX= ’56 ='.—“—-
"|5 46
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i 3 17
14. Prove algebraically that 0.309 can be written as —

: %=0.30909...
l00%, =30-30963 -~

(3)
. 13
15.  Prove algebraically that 0.216 can be written as —
lo0% =2 +6eL6 - - °
—
qqx = 21.49
% =13 (Show'n
(o)
(3)
16.  Write 2.165 as a mixed number.
Give your answer in its simplest form.
x% 10‘ 666 L L
qQqx = 2194.4
% =102 _ 2 82
495 495
..................... ( 3)
© Corbettmaths 2022
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17.  Write the numbers below in order.

Start with the smallest.

11 v B
23 0472 11
J 0.45
0-43826
(3)
18.  Workout 0.3 —0.05
Give your answer as a fraction in its simplest form.
%= 0:3d.-. x,o.OS‘Ss--’
lO‘X.:B.aa.-- 0% = 0-565b6. - -
//_‘
qn = 3_!_ g = 0;6
N - 3 % =-l—8—
_l__ _L = _G/-’l"
3 18 18
=5
8
..................... ( 4)
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19.  Workout 0.14 +0.23

[C_=)
Give your answer as a fraction in its simplest form.

- 0.4, .. x=0-2325 -
X \00%793'23 23 .- -

lox.: loqqu"

— ~aqun - 23
Q'x,‘: |03 qx' =‘2—3‘
% = E:% 9
D _/
-
3313
aq0
333
990
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